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1.

PART -1

Physics

If a rigid body whose moment of
inertia is I, angular acceleration a.,
angular momentum L and moment of
force t, rotates about an axis with
angular velocity w, then the correct
answer will be-

A t=lo
B. 1=1w’
C. 1=la
D. 1=1a?

Dimensional formula of G is-

A [m18T2]
B. :M‘lLZT‘3:
C. :M—2L3T—1:
D. :MzL—lT—.z:

Weight of a body and value of
gravitational acceleration at the centre
of the Earth will be respectively-

A. zero and infinite
B. infinite and zero

C. infinite and infinite
D. zero and zero

TRt

1. afe =rg e % fommeht STged AT 1,

IR T o, IV AT L T i
AT © &, B T o | forelt 31e1 6
WT??WT@%,?ﬁWW%—

T=lo
7=l

T=la

oo w>

C. M -2 L3-|-—l 7

D. 'MzL—lT—z‘
el o 35 T TR 3 3BT ST U TTecel
TaIUT T HT SHUST: BT 8-

A. T AR 3T

B. d R

C. 3Fia 3T 3Td

D. I AR
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4. Correct order of increasing heat

conductivity among the following is-
A. Cu, Ag, Al

B. Al, Cu, Ag

C. Al Ag, Cu

D. None of the above

When impurities are mixed in a
material, then its elasticity-

() sometimes increases

(1) sometimes decreases

(1) remains constant

(1V) remains unaffected
Choose correct answer-

A. () & (I only

B. (I) & (IV) only

C. (I) & (1) only

D. () & (V) only

In street light, the mirror used as a
reflector is-

A. Plane

B. Concave

C. Convex

D. None of the above

STl g8 SSHT =ITetehd o fore, Frferfee |
o 3Tk o 2-

A. Cu, Ag, Al

B. Al, Cu, Ag

C. Al, Ag, Cu

D. 30 & g Tt

TaTel ¥ HRIREAT i AT W gHehT
TCTErdT-

() wfraedidl (1) o2l
(1) Fra w2l (1v) stofed & 2l
A. Fad (1) 3R (110)

B. el (1) 3T (IV)

C. ad (1) 3R (ID)

D. e (I11) 3T (1V)

e ATEE H SR TIaish o1 90T BIT 8-

. HHdAA

.3

A
B. 3faqad
C

D. 37w § IS T
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7.

If angular displacement of a body at
time tis O radian and 0 =t>—27t+8,
then angular speed at any time will be-

A. (3t?-27) radians

B. (3t?-27) radian / second
C. (3t*>-27) second

D. t3-27t+8

On the Celsius scale, absolute zero
temperature is-

A. 0°C

B. —273°C
C. —273.16°C
D. 100°C

7. Tordll oEq o AR t {H O ShI0Te e

0 fegmgdur 0 =t3—27t+8, a1 foreft
HET IV AT BTI-

A. (3t? -27) e

B. (3t? -27) fez/8svg
C. (3t>—27) axvs

D. t3-27t+8

fcerere SHT I I AT 8 8-

A. 0°C

B. —273°C
C. -273.16°C
D. 100°C
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9. Pair correctly-

List — I List - 11
(I) Escape velocity (a) - GMm
r
(1) Orbital speed  (b) G';’:m
(111) Potential energy () +/29R
of a satellite
(IV) Kinetic energy (d) ,/ CM
R+h
of a satellite
(V) Total energy (e) _Gg/:m

of satellite

I-c, Il-d, lll-a, IV-b, V-e
I-c, ll-a, 1I-d, IV-b, V-e
I-c, ll-d, lll-a, IV-e, V-b
I-c, ll-e, lll-a, IV-b, V-d

oo Wy

10. The characteristics of wave which is
independent of other characteristics is-

A. frequency
B. amplitude
C. speed

D. wavelength

9. wel Il SRT-

10.

gt — 1 Tt - 11
() YA AT (a) —GMTm
(IT) et =t (b) G';/:m
(1) 3w i Rafasr =1t (¢) /2R
(V) SWRH st S (d) SM

R+h

(V) SRR FAS  (e) —Gg/:m
A. I-c, lI-d, lll-a, IV-b, V-e
B. I-c, ll-a, IlI-d, I\V-b, V-e
C. I-c, l1-d, Ill-a, IV-e, V-b
D. I-c, ll-e, Ill-a, IV-b, V-d
o i forerear S 3o 1= fomivaren 9
T &-
A. IR
B. ™
C. =
D. dresd
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11. Make correct pair-

Column-I Column-II
() Unit of Speed (a) meter
(1) Velocity

A.
B.
C.
D.

I-b, Il-a, Il-c, IV-d
I-d, Il-a, I1l-b, 1V-c
I-d, Il-b, 1ll-a, IV-c
I-c, 1I-b, Ill-a, 1V-d

12. Energy is not carried by-

A

B
C.
D

13. One horse power is equal to-

A

B
C.
D

transverse progressive wave
. longitudinal progressive wave

stationary wave

. electromagnetic wave

74.6 Watts

. 746 Watts

7460 Watts

. 74600 Watts

14. Light year is the unit of-

A

B
C.
D

Time

. Distance

Speed

. Intensity of light

(b) displacement/
time

(111) Displacement (c) meter/second?

(IV) Acceleration (d) meter/second

gl
(I) TARTHAECR  (a)
1) aT (b)
(1) foreema= (c)
(IV) & (d)

A. I-b, ll-a, Ill-c, IV-d
B. I-d, Il-a, Ill-b, IV-c
C. I-d, lI-b, Ill-a, IV-c
D. I-c, lI-b, lll-a, IV-d

. ol T8 of ST ST 8-

A, SITIES THT T g0
B. e W T g
C. SAHT a8 /T

D. ford SFrehia O g

. U 379 YIih SIe 2-

A. 74.641E
B. 74641
C. 7460412
D. 74600 912

. JhTYT Y HTA B-

A. HI 1
B. g
C. At
D. SeRIT isidl T

Que-I1
e
foreema /e

ev/dsve?
Hey/Benug
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15.

16.

17.

Interference occurs-

() in longitudinal waves
(I1) in transverse waves

(1) in electromagnetic waves
(IV) in sound waves

Choose the correct answer-

A. (1)

B. (I) &Il

C. (), (I & (111)

D. (1), (1), (1) & (IV)

Dispersion occurs in-

() concave mirror

(1) concave lens

(111 convex lens

(1V) prism

Choose the correct answer-

A. (1), (I1) & (111
B. (I), (1) & (IV)
C. (), (1) & (IV)
D. (1), (1) & (IV)

Which are the fundamental units

among the following?

() ampere (II) Candela
(11) Newton (1V) Kelvin
Correct answer is-

A () & ()

B. (I & (1)

C. (1) &(1V)
D

(), (I & (1IV)

15.

16.

17.

S ereRToT BT 2-

() e qon |

(1) FLIE qaM |
(1) Torgrd Sarehlar T o
(1V) &=t aam o

A. (D)

B. ()3 ()

C. (1), (1) s (1)

D. (1), (1), (1) 3 (1V)
ui-fareigor 2rar 8-

() 37add guor i

(1) Foad dqH

(111) STA T H

av) fsaa

A. (), (1) s (111)

B. (1), (1) 3R (1V)

C. (1D, (1) R (V)
D. (1), (1) 3R (IV)

ffTad & & & 7o 7T 82
() TR 1) e
(1) =g (V) Hfca
el I &-

A ()& ®1N)

B. (1) & (Il

C. (1) & (1V)

D. (), (1) & (1V)
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18. If net force on a body is zero, then its

19.

acceleration will-
A. increase

B. decrease

C. be zero

D. be none of the above

Pair correctly-
Column-A Column-B
(1) Specific heat (a) gram
(1) Heat capacity (b) calorie/gram
kelvin

(1) Latent heat  (c) calorie/kelvin

(1V) Water (d) calorie/gram
equivalent
A. I-c, lI-b, lll-a, IV-d

B. I-c, lI-b, I1l-d, IV-a
C. I-b, ll-c, Ill-a, IV-d
D. I-b, ll-c, I1l-d, IV-a

18.

19.

A forelt g T et et X[ &, 1 6T

ug &’

() fafiressr (a) om

(1) o7 &Tiear  (b) Shelidly/uT shifca
() TEFHT (c) HeAry/ e
(IV) S qei®  (d) hary/am

A. I-c, II-b, 1ll-a, IV-d

B. I-c, Il-b, IlI-d, IV-a

C. I-b, ll-c, Ill-a, IV-d

D. I-b, ll-c, I1I-d, IV-a
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20.

21.

Pair the following-
Column-A
(I) Water is conductor of heat
(I1) Temperature is measure of
(111) Heat conduction in liquid
(IV) Heat conduction in solids
(V) Black body spectrum is
Column-B
(@) Continuous
(b) Bad
(c) Hotness or Coldness of a body
(d) by convection
(e) by conduction

A. 1I-b, ll-c, Il1-d, IV-e, V-a
B. I-b, ll-c, lll-d, IV-a, V-e
C. I-b, ll-c, lll-a, IV-d, V-e
D. I-b, lI-a, lll-c, IV-e, V-a

A rocket moves at a speed of 242 m/s
directly towards a stationary pole
while emitting sound waves at
frequency 1250 Hz. What frequency is
measured by a detector attached to the
pole?

A. 4200 Hz

B. 4220 Hz
C. 4235Hz
D. 4245 Hz

20.

21.

SISIEEIES
are-A
(I) O ST T =ITeleh @
(1) 9 A7 &
(I11) St H FHSHT e
(IV) 3T T ST T=Lor
(V) & g quishd grar 2
are-d
(a) oAfaa
(b) T
(c) T I THIEE AT SUSTIT
(d) EIRIEA
(¢) ST ERT
A. I-b, Il-c, I1I-d, IV-e, V-a
B. I-b, ll-c, I11-d, IV-a, V-e
C. I-b, ll-c, ll-a, IV-d, V-e
D. I-b, ll-a, lll-c, IV-¢e, V-a

T Uohe 242 Hh./A. it =1t o g
e @wt 3t T TEaRT 1250 Hz 3 eaf
JcafSld X BT ST 8l TP & ST feaet
4200 Hz

4220 Hz

4235 Hz

4245 Hz

O oOow>
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22.

23.

24.

Potential energy on compressing a
metal-

A. increases
B. decreases
C. remains constant
D. becomes infinite

Meaning of zero time is-
A. Watch is stopped.
B. There is 12 O’clock in the watch.

C. Initial moment in the study of
motion.

D. Where the time ends.

If a rigid body whose moment of
inertia is I, angular acceleration a.,
angular momentum L and moment of
force t, rotates about an axis with
angular velocity o, rotational kinetic
energy E, then which of the following
will be correct?

0 L=lo () L=%MK2
1 dL
() E=Jlo (V) ==

Where M is mass of the body and K is
radius of gyration.

A. (I)only

B. (1) and (II) only

C. (1), (1D and (111) only
D. (1), (1) and (IV) only

22.

23.

24,

T HTq i Hfifed i W Refrst 3Heii-
A. a2

B. =gl

C. a2l

D. 3Hd & 9T gl

ST | o7 37 B -

A. = 152 21

B. o H 91E M|

C. TIfd o ST T ITfiTeR &fo)

D. SI& 95T 99Tq g1 a7 ?

T h1E go g fSrehT STged Sl 1,
IV T ¢, IV AT L AT S
AT 1 B, IV AT o | forelt STeT 6

afi: Bo R T 2, SR ol fast e E
a1, at Frefafaa & =i @ g

0O L=lo () L:%MKZ
1 dL

) E=Zle (IV) 1=—

(11D) 5o av) = m

STET M ar&q 1 5e3H 3 K Tt e
2

A. Faa (1)

B. aaat (1) 31 (11)

C. aaa (1), (1) 3 (1)

D. ad (1), (1) 3R (1V)
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25. Mean kinetic energy of molecules of a

gas depends on-

A. the nature of the gas

B. the absolute temperature
C. the volume of the gas

D. none of the above

26. The potential barrier at the P-N
Junction depends upon-
(I) nature of semi-conductor
(1) amount of impurity added
(1) temperature
Choose the correct option-

A. On (I), (1) and (1)
B. Onlyon (1) and (I1)
C. Onlyon (I1)

D. Only on (1) and (I11)

25.

26.

e STOLT ST AT ST st (4K el 2-
A. T8 & TeHfd T

B. WH YW

C. &A™ |

D. & & IS Tel

P-N Ty & Tiferent forrer fnf e 2-
(I)  3Ted=TeTeh ohl Jehfd W

(1) 3RS T AET R

(1) a9 T
get forehe -

A. (D), (I1)  (I1I) =T
B. @aat (I) d (I) W

C. *ad (II) W

D. @aat (1) & (1) W

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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27. Match the following- 21. E'ai%'“ SPIFST-

Column-I T - |
(@) Capacity of a conductor rete 1 i
(b) Capacity of spherical conductor @) i N
(c) Capacity of parallel plate (b) el E”E'E'f T
capacitor (c) THA g T ohl riear
(d) Capacity of spherical capacitor (d) TNATHR GETET sht erfear
Column-11
—_— ey - 11
(N gAld | INT
(1) 4negab/ (b—a) ()€
any o/v (1) 4neqjab/(b—-a)
(V) 4re,R () Q/v
Choose the correct option. S%\.? 4n80§raa=r |
|é|65c'q EﬁliélQ
A. a-l, b-lll, c-Il, d-1V
B. a-Il. b-1V, c-I. d-1II A. a-l, b-lll, c-Il, d-1V
C. a1l b-1V. c-1. d-11 B. a-ll, b-1V, c-1, d-1lI
D. a-IV, b-11, c-111, d-I C. a-lll, b-1V, c-1, d-1I
D. a-1V, b-1l, c-11l, d-I
28. The self inductance of a solenoid is- 28. ferdlt yfTioTeRT AT TUTehcet BIAT B-
A. directly proportional to the current A, Fueet ¥ yaTied 9RT % TR
flowing in it c v
B. directly proportional to its length B. b DTS
C. directly proportional to its area of C. 311%?;@9%94 =T &t
Cross section FATRATIATAT
D. inversely proportional to its area D. quf@agﬁawaq
of cross-section SR

D D

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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29. The wavelength of a photon is 29. us BieH i qareed 5000 A° ®, SHHT
5000 A°, its momentum will be- G BT

A. 1.32x10% kgm/s
B. 1.5x10% kgm/s
C. 2.32x10%" kgm/s
D. 50102 kgm/s

A. 1.32x10% kgm/s
B. 15%x10% kgm/s
C. 2.32x10% kgm/s
D. 5.0x10% kgm/s

30. The S.1. unit of decay constant is- 30. &r ferdies 7 S.1. AT 2-
A. Becquerel A, YFA
B. Rutherford B R
C. Curie
D. Thomson c Wﬁ
D. gm™yd
31. Which of the following law gives the 31. fr=ferRaa o @ for frm @ Ofta fa. &
direction of the induced e.m.f.? T ST T3 STt SRt ST} 22
A. Faraday’s law A %02 7 B
B. Lenz’s law .
S EIREDE]
C. Maxwell’s law B. @i
D. Ampere’s law C. HFaadt 1 fom
D. TR &
32. o -particle is the nucleus of following 32. o -1 freferfiard aemTy o6t AT B &-
ionl: | A. TEESH
: rogen
YEros B. wifem
B. Deuterium ~ e
C. Helium C. @iferm
D. Tritium D. grsfeam

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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33. Number of electrons in one Coulomb

charge are-

A. 548x10%
B. 6.25x10"
C. 1.8x10"
D. 62.5x10'

34. The linear magnification of objective

and eye lens of a compound
microscope are m, and

m, respectively. The magnifying
power of microscope will be-

A. m,+m,
My — Mg

B
C. myxm,
D

33. U FHTAH AT H FoIaLHI shl HEAT &-

34.

A

5.48x10%

B. 6.25x10%
C.
D

1.8x10%

. 62.5x10'®

Teh Sh GEHaR(T o SAgeeh Ud ekt
I STae e shEst: m, F m, g
qeas(f T STarE & grl-

A

B
C.
D

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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35.

36.

Match the following-
Column-I

(@) Permeability

(b) Magnetic field

(c) Magnetic moment

(d) Pole strength
Column-11

(I) ampere x meter

(1) ampere x meter?

(111) newton / ampere 2

(1V) newton / ampere x metre

Select correct answer from the option
given below-

A. a-1V, b-l, c-1l, d-ll1
B. a-lll, b-1V, c-Il, d-I
C. a-ll, b-lll, c-I, d-1V
D. a-lll, b-11, c-1V, d-I

In an atom, on increasing the radius of
orbit of electron, it’s energy-

A. Increases
B. Decreases
C. Remains unchanged
D. Nothing can be said

35.

36.

gHfd shifeTe-

-
(a) TFSRATAAT
(b) ek &
(c) Teehig ATl
(d) yaam

TIT-11
() TERR x #ix
(1) TRRR x Hiex?
(1) =I2 / TfFeRr 2
(IV) =T / TR x HieX
= for T fasheal 4 @ O SIFT==A
hifsra-
A. a-1V, b-l, c-11, d-111
B. a-lll, b-1V, c-Il, d-I
C. a-ll, b-lIl, c-1, d-1V
D. a-lll, b-1l, c-1V, d-I

TRHT] H SAag shi ST g TT 36ehl

el

A. FEdl gl

B. =t 2l

C. ufEfdd &l 2l
D. %% %% el dehll
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37.

38.

39.

A long straight wire carries a current
of 35 A, then magnitude of magnetic
field at a point 20 cm from the wire
will be-

A. 53x10°T
B. 35x107°T
C. 39x107°T
D. 4.0x107°T

In the balanced position of
potentiometer its resistance is-

A. zero
B. infinite

C. very low

D. very high

Assertion (A) : Higher the range,
greater is the resistance of ammeter.
Reason (R) : To increase the range of

ammeter, additional shunt needs to be
used across it.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

37.

38.

39.

ek el € AR H 35A Torggd | yatfed
SR, A AR 20 A o feera
fopeft fereg, T <fsrehlar &t i cftsrat a1
qieToT 2T

A. 53x10°T

B. 35x10°T

C. 3.9x10°T

D. 4.0x107°T

fervermTdt <Y Eiqer <t feerfa & geeht
gferier rar -

A. I

B. 3Hd

. gd T

. Afd 3=

U (A) : T St e1feren Eielt 2,
3Tt T frtier 3T 2 7y 2t 21
T (R) : 3THIT Y W8 agH & fefw
3T T4 9T AT 31ve AT STTavaeh

a2l

A. U (A) TATFHIT (R) SHT T &,
YT hRIT (R) hA (A) I Tl =TT
AT B

B. T (A) AT SR (R) SHI T &,
T W (R), AT (A) T &=l
ST &} LT 2

C. U (A) HEl ®, T FNT (R) Terd 8

D. % (A) TTed 8, T HRT (R) Hel 2

C
D
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40. Consider the following statements and

41.

42.

choose correct option given below.

(@) Anemf can be induced by
moving a conductor in a
magnetic field.

(b) Anemf can be induced by
changing the magnetic field.

A. Both (a) and (b) are true

B. (a) is true but (b) is false

C. (b) is true but (a) is false

D. Both (a) and (b) are false

The total electric flux emanating in air
due to unit positive charge will be-

A g
B. 1

A 100Q2 resistor is connected to a 220

V, 50 Hz a.c. supply. The r.m.s. value
of current in circuit will be-

A. 220 A
B. 230 A
C. 440A
D. 32A

40. fefaitad smeet ot fomm st qur = foar

41.

42.

T forehedt B O Tt fashed o1 =9 -

(a) Toreft =TeTeh st Serhra & 7 7Tfd
FR o7, o, ot S feram s
o1 2l

(b) el &= | qiterd ek for.am. ot
Tieq forar ST EshaT &

A. ST (a) T9T (b) AT =l

B. (a) & 2 W (b) IEA 2

C. (b) ¥ 2 W (a) 3 B

D. 2HI (a) T (b) 39T Bl

fereft wahten erttereT @ Ay & fovid et forqa
AR ETI-

A g

B. 1

€

T 1002 T gfciers 200V, 50 Hz &t
Y. HATgfd & S &, d aiwer § aw
3T ST ATE T A (r.m.s.) BITI-

A 220A

B. 230 A
C. 440 A
D. 32A
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43.

44,

45.

The S.1I. unit of specific resistance is-
A. Ohm
. Ohm™

B
C. Ohm x metre
D

. Ohm™ x metre ™

The Electric Field at a point is-
A. Always continuous

B. Continuous if there is no charge at
that point

C. Discontinuous only if there is a
negative charge at that point

D. Discontinuous if there is a positive
charge at that point

Three resistors 20,40 and 5Q are

combined in parallel then total
resistance of combination will be-
A. E O

20

B. 20
19
C. 21,
19
D. 19,
21

43.

44,

45.

fafere uferre i T, 1. 3TS &-
A. W

B. s

C. 3 x "X

D. st x dex

fopeft formg ot forgrer &fa-

A. HT Gad g 2l

B. Hdd EIaT &, Jfe 3¢ feig W ahlg smaw
TR0

C. ad el Heid Tl el St 34 foreg o
IS SRUTTATT |

D. ¥aq el grar afs 39 forg WA
BEIEEE |

2Q, 40 IR 50 o T Ufcierss a4 she
H WS &, A SRS BT et e gRT-
A. 11

—Q
20
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46.

47.

48.

The ratio between the first three
Bohr’s orbit radii is-

A 1:2:3
B. 2:3:6
C. 1:4:9
D. 1:3:5

Three capacitors C;,C, and C, are

connected in series, the equivalent
capacitance will be-

A. C +C,+C4
C1C2Cs
B. C,C,+C,C;3+C;Cy
Ci1C, Gy
C. C,C,C,
C,C, +C,C;+C5Cy
C,+C,+C4

When a forward bias is applied to a p-
n junction it-
A. raises the potential barrier

B. reduces the majority carrier
current to zero

C. lowers the potential barrier
D. None of the above

46.

47.

48.

Y Tum 4 wAre ) Brearen g
3T BT &-
1:2:3
2:3:6
1:4:9
D. 1:3:5
= gurfar C,,C, & C, Aol &
HATS & g i grfi-
A. C,+C,+C;,
C,C,Cq
B. C,C,+C,C;+C,C,
C102 CS

C. C,C,C,

C,C, +C,C;+C,C,

C,+C,+C4

O W >

STeT p-n e T SRR STRIE ST
ERIEINIEACEES

A. fave Qe TqraT R

B. SgHEA AT8%h G i I T adT o
C. forvya Trereh sl v A ST R

D. 378 ¥ IS A&t
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49. A galvanometer is converted into an 49. ush YT} T 3T H sgaq o fofw
ammeter by connecting- 3IGhT shed! & 91y Sed 8-

A. A high resistance wire in series A. TS IoT UTare T ai Soft s &

B. A low resistance wire in parallel . .
: . o B. U T fre T a1 Ui 60 §

C. A high resistance wire in parallel

D.

A low resistance wire in series C. T ool SIFCrIer T ofiX FoTierd she &

D. Ueh ¥ IfcRiY T dr 20ft 5| 1

50. The power of lens of spectacles of a 50. fopeft A o =I9H o6l &Wel 2D (SA) &,
person is 2D (diopter). The defect in 3G 3B 319 2-
his eye is-
: A. Fere e
A. myopia
B. hypermetropia B. ac\(glﬁ
C. presbyopia C. sugfe
D. astigmatism D. 3w
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PART - II
Chemistry RGIRE

51. A radioactive element emits o (alpha), 51. e afsra aca o (31®), B (Sfie),
B (beta), y (gamma) rays. What will be v (TTHT) ToRToT Seafsla shed 21 SehT e

the correct sequence of the decreasing & (R) ST STRIA &9 (1) 1 Y
order of their penetrating power (R) .

and ionizing power (1)?

A Rg>R, >R, and Ig>1, >1, A. Rg>R, >R, 3 Ig>1, > 1,

B. R, >R, >R, and I;>1 >1, B. R, >Ry >R, R Ig>1,>1,

C. R, >Ry >R, and I, >15>1, C. R, >Ry>R, 3 I, >1y>1,
D

D. Rg>R, >R and I, >1I3>1, . Rg>Ry >R, 31, > 15>,

52. What will be the effect on specific 52. fof3Te SeaT ux T T B At fohet
heat if the volume of gas becomes o TG ohl S8 ol STRIAT o ST T
half? far <o &

A. will become half
. A. el grfy
B. remain constant
C. becomes doubled B. feemzerht
D. becomes four times C. T el S
D. =R T & S
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53.

54.

For a reaction aA+bB=cC+dD.

Reaction quotient with molar
concentration

Q. =[CI'[DI"/[AF[BY" if
Q. =K., Q. <K, Q. > K, atthis

condition the right direction of

sequence will be

() Reaction is at equilibrium

(I1) Reaction will proceed in
direction of Reaction.

(1) Reaction will proceed in
direction of product.

A. (1), (1), (1)
B. (1), (1), (1)
C. (I, (1), (1)
D. (1), (1), (1)

Molarity of solution is 0.01 M and its
molar conductivity is

1.26x102 ohm™cm? mol ™ its specific
conductivity of solution will be-

A. 1.26x107°

B. 1.26x10™

C. 1.26x10™

D. 1.26x107?

53. fyufsram aA +bB = cC +dD HIeR

ATS0T T 3R YTt
Q. =[CI'[DI'/[AT'[B]” =f
Q. =K. Q. <K, Q,>K, eHWzH
fearfoant o ez =t wet sy ford-
(1)  Affsran grmeree o gt
(1) ANTTeRaT AR T 3R
srfe anft
(111) Afrfsran 3earg it 7T sfya enft

A. (1), (1), (1)
B. (1), (1), (1)
C. (I, (1), (1)
D. (1), (1), (1)

. oo T giear 0.01 M 2 3R Aol

=ITetehell 1.26 x 10 &A1 4t “diet 3¢k
ICRPEEIRCIMERCIKET Ui

A. 1.26x1073

B. 1.26x10™*

C. 1.26x107°

D. 1.26x1072

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-UA-JUNGV-ENT-M1

31 Set A




93. Direction - Assertion (A) and Reason

(R) below. Choose the correct

alternative.

Assertion (A) : For negatively charged

sol, the coagulation value of NaCl

and MgCl, is 0.52 and 0.72.

Reason (R) : Grater charge of cation

causes slower coagulation.

A. Assertion (A) and Reason (R) both
are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Assertion (A) and Reason (R) both
are true and Reason (R) is not

correct explanation of Assertion
(A)

C. Assertion (A) is true, Reason (R)
is false

D. Assertion (A) is false, Reason (R)
IS true

56. What will be the freezing point

depression for the solution having
mobility 0.078 m containing a non-
electrolyte solute in benzene? (K; of

benzene is 5.12 K kgmol ™)

A. 20K
B. 40K
C. 60K
D. 80K

55. fager — Al (A) 3 HRT (R) &

56.

HTHT HET forehied T == il

AR (A) : FHUITCH ST A &

NaCl, MgCl,, T &had A 0.52 3R

0.72 2l

T (R) : & TN 3T BN o T

Thae o1 W o LT idT ST 2

A. NI (A) 3T FHIT (R) SHT T
2, T (R), ARRIT (A) T H_T
T B

B. 3If¥eRYA (A) 3T HRIT (R) SHT T
2, ST (R), SARRIT (A) T H&T
TeRtor TE 2

C. AN (A) T 8, TR (R) 1A
2

D. SANYHAT (A) 3 8, HRT (R) TH
2l

39 T o fewier st s grm
[STerehl HieTerd 0.078 m T forega
AT et ™ ek fereta sfsfi # &
g2 (K aisf &g 5.12Kkgmol ™)
A. 20K

B. 40K
C. 60K
D. 80K
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S7. Match the given standard free energy

58.

59.

with corresponding equilibrium
constant of a reaction-

Column A Column B
() AG®=0 (@ K=1
(1) AG® <0 (b) K<1
(1) AG® >0 () K>1
A. l-a ll-c, llI-b
B. I-b, ll-c, lll-a
C. I-a, II-b, lll-c
D. I, ll-a Il-b

In which of the following pairs the
ions shows iso-electronic species?

() C,B" (1) AI**, 0°
(1) Na*, 02 (v)ClI, K*
A. (I) and (IV) only
B. (1) and (111) only
C. () and (IV) only
D. (I11) and (I1) only

What will be standard electrode

potential of Cu™/Cu half cell if
standard reduction potential of

Cu?*/Cu and Cu?*/Cu* are 0.337
and 0.153 Vv?

A. 0.490V
B. 0.590V
C. 0515V
D. 0.284V

57.

58.

59.

HIe: Wh Sl ol 3eh HHCT HTRITEE

feortien o | wEt Siel fiersa-
FTaq A F1d B

() AG® =0 (@) K=1

(1) AG® <0 (b) K<1

(1) AG® >0 () K>1

A. I-a, ll-c, lll-b

B. I-b, ll-c, Ill-a

C. l-a, Il-b, lll-c

D. I-c, Il-a, llI-b

frferfaa 1T o St § & o o St

T TS TR 82

() C,B* (1) AlI**, 0"

(1) Na*, 0?2 (IV)ClI', K"

A. Fad (1) 3R (1V)
B. et (I) 31 (110)
C. aad (1) 3R (IV)
D. ahad (I11) 3R (1)

Cu'/Cu 371ed 8 T T SAFIS favrer
FT e afe Cu?t/Cu 3 Cu?/Cu”
T O Soadrs fave 0.337 37 0.153 V
27

0.490 V

0.590 V

0.515 V

0.284 V

OO w>
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60.

61.

62.

For a reaction 2D =B+ C the value
of K, is 2x10~ at same temperature
if composition of reaction mixture is
[D]=[B]=[C]=4x10"*M then
correct relation of Q. and K will be-
A. Q. <K,

B. Q.> K,

C. Qc: Kc

D. Q.=K.=0

Arrange the following in increasing
order of pH-

()  KNO(aq)

(1) CH;COONa(aq)

(1) NH,Cl(aq)

(IV) CzH;COONH, (aq)

A. (ID <)< < (V)

B. (D<D<()<(V)

C. (IV) <)y <<

D. () <@V) <)<

For It order reaction the rate is
0.0069mol L™ min™* and initial
concentration is 0.2mol L™ then half
life period is-

A. 1250s

B. 12500s
C. 1205s
D. 12005s

60.

61.

62.

T AWHAT 2D =B+C 2 K, #
O 2x10°° 21 38 ar W Afg stfsferan
firzror 1 e [D] =[B] =[C] =
4x107*M 2t rfufsrar Q. & K, T
e gty g

A Q.<K,

B. Q.> K,

C. Q.=K,

D. Q.=K,=0

1T 1 37k 9ied §U pH 1 o s §
Fafterd Hifs-

(1) KNO;(aq)

(1) CH,;COONa (aq)

(1) NH,Cl(aq)

(IV) C¢H; COONH, (aq)

A. (ID< )<< V)

B. (D)<{D<)<(IV)

C. (V)< <)< ()

D. (Hh<({V) <M<

Teh T ohife shi STTToRaT Al ot
0.0069 mol L™ min™" fsrerert wmiftsren
A7 0.2mol L & se a1ed
TR TRTI-

A. 1250s

B. 12500s
C. 1205s
D. 12005s
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63. In which of the following condition 63. fmfafad f gemett w tamfes e

chemical reaction does not take place? T Bt 22
A. Iggrease of AH and increase of A AH ST T AS TG
B. Increase of AH and decrease of B. AH WG T AS HI % &HT
AS C. AH ST HATAAT AS & HeAT
C. [igcrease of AH and decrease of D. AH T AS 21 fer
D. AH and AS both remain constant.
64. At 20°C for a reaction 64. stfufsRam 2NO + Cl, = 2NOCI & fag

2NO +Cl, = 2NOClI

20°C R K, 1AM 1.9x10°
K, value is 1.9 %103 Atm™. What will

(FRAUSA) &, T A W K FIAW

be the valuef)of K, at same T BT
temperature’ PN
R =0.082LAtm K mol™, R =0.0821 aTgeveet K™ Hier
A. 4
A. 357x10% 3.57x10
B 4
B. 457x10% 4.57 %10
C. 3
C. 457x10° 4.57 %10
D. 3
D. 3.9x10° 3.9x10
65. Given Reaction is example of- 65. IuIh ATsRaT ITEToT 8-
high
1D? +,T° — JHe* + o D24+ 13 ST 5 Het 4 nt
temp am
A. Nuclear fission A, Atfera forareT
B. Nuclear Fusion B. HTRT G
C. Radioactive disintegration C. Yearendt faees
D. Artificial radioactivity D. @t fedftar
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66. Match the correct option. 66. Tl St 1 =2 Hi-

Column-A Column-B FTAT-A FTTH-B
E:i) gydrogen Bond 8 SSZ 1) eSS ay (8 Co,
esonance
(111) CovalentBond  (c) LiF (a0 o . (b) H_F
(IV) lonic Bond (d) NO, () Wegash s (c) LiF
A. 1-b, 1, li-c, IV-d (V) frawsE S (d) NO,
B. I-b, Il-d, Ill-c, IV-a A. I-b, Il-a, Ill-c, IV-d
C. I-a, ll-b, llI-d, IV-c B. I-b, II-d, Ill-c, IV-a
D. I-b, 1l-d, lll-a, IV-C C. I-a, II-b, 1ll-d, IV-c
D. I-b, ll-d, Ill-a, IV-C
67. 1dentify the zero order reaction from 67. fod T e @ = hife sfafr 6 O
the given graph- qEaT=a-
Rate‘/ Rate R‘/ ET—
Concentration Concentration | ———
(M (1 i
. M (1
Concentration‘\COnC(ﬁaﬂon \ 1
Time Time
(1 (V) T e
A. (1) and (11) only (1) (V)
B. (I1) and (I11) only A. FHFA (1) 3R (11)
C. (Il and (1V) only B. haat (1) 31 (110
D. (1) and (1V) only C. ad (I11) 3R (V)

D. aat (I) R (V)
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68. For a given reaction equilibrium

69.

constant given below-
N, +3H, =2NH,; ; K;

N,+0, =2NO ; K,
H2+%Oz;\H20 LKy

The equilibrium constant of the given
reaction will be-

2NH3+go2 =2NO+3H,0

A KlKg/Kz
B. Kng/Kl
C. KIK3/K,
D K§Ks /Ky

Which of the following sets of

quantum numbers are correct?
n L m

m 1 1 0

an 2 1 +1

(n 1 0 O

(v) 3 4 -2

A. () and (I1) only

B. (1) and (111) only

C. (Il and (IV) only

D. () and (IV) only

68. ffeifiga srfsfsrat o arrameen fReris

69.

N, +3H, =2NH; ; K;
N,+0,=2NO : K,
H2+%02;\H20 LK,

et sfsrfera & fow aremee fRemien
ST

2NH,4 +gO2 =2NO +3H,0

A KK3/K,
B. K,K§/K,
C. K3K3/K,
D. KiKs/K,

e & 9 safen 9@ o 199 9

e 82

n L m
Mm 1 1 0
an 2 1 +1
amn 1 0 0
av) 3 4 -2

A. had (1) 3 (1)

B. haat (1) 37 (111
C. aad (11I) 3R (IV)
D. aat (I) SR (V)

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-UA-JUNGV-ENT-M1

31 Set A




70.

71.

Direction - Assertion (A) and Reason
(R) below choose the correct
alternative-

Assertion (A) : Soda water kept at
room temperature, fizzes on opening.
Reason (R) : Due to different pressure
inside and outside the bottle the partial
pressure of CO, above the solution

decreases.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion A is true but Reason (R)
is false.

D. Assertion (A) is false but Reason
(R) is true.

The number of moles of

KMnO, needed to react completely

with one mole of ferrous oxalate in
acidic solution will be-

A.%
B.%
%
1

C.
D.

70.

71.

fiaer - TfireherT (A) 3R HROT (R)

U HET forehicd T = hi-

AU (A) : FHL & AT T, TS A1

WieH W T (B8ATES) Sca= LT 2|

W7 (R) : SIS oh 3F7eL A 1L &

ATIHT B ST BN | Sdel o 3Ta JUTYrd

CO,, T ST ITeT W &I 7T 2-

A. SAMNFHAT (A) 3T HRT (R) EHT T
2 3T FHRT (R), IFTHAT (A) T T
TR 2

B. AN (A) 3T HNT (R) SHT I
2 9T HIT (R) B (A) T T
TSR e R

C. ANTHT (A) T & WHRI (R) TeAd
(379) Bl

D. AR (A) 3T & THRT (R)
I (T 2

FrAT T o e STadcie & T A
H=AT shT quid: foRam o o foig KMInO,
o HIeT shi HIAT fohe1 21T

B.%
C.%

D. 1
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72. Refer the data of the following 72. ffafad dcal & T et 9
element of their ionisation enthalpies S TEU] TSIt o SATehel § Gaifereh
and electron gain enthalpies. Write the foparetieT avaTa. Tt fparaiet ar

correct sequence of most reactive non ,
metal, most reactive metal, least e fopamefiet dea, g Sit fgeiht ease

reactive element, metal form binary ST & o FRASTEG SIS
halide. a  AH; AH, Ay H
Element AH, AH, Ay H A 419 3051 -48

A 419 3051 -48 B 1681 3374 -328
B 1681 3374 -328 C 738 1451 -40
C 738 1451 -40 D 2372 5251 +48
D 2372 5251 +48 A ABDC

A. A,B,D.C B. B,A,D,C

B. B,AD,C C. D,AB,C

C. D.ABC D. A C,D,B

D. A, C,D,B B

73. Identify the coloured ion from the ion 73. fr=foaRaa smmt & @ Tfiw o fafea-

given below- 0 702+ () NiZ*

(h zo*r (N any ¥ vy Ti*

ay cr*toav)  TiM A (1) i (11)

A. (1) and (I1) '

B. (I1) and (1) B. (1) s (i)

C. (1) and (1V) C. (In) s (IV)

D. (I)and (IV) D. (I) 3R (V)
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74. Match the element with their correct 74. T 1 3Tk T AT (PM) § WE

atomic radii in PM S firermet
Element  Atomic Radii (PM)
() Be @ 88 o R e (PM)
() C (b) 74 () Be (@) 88
(1) N c) 77 (I c (b) 74
(IV) B @d 111 (I N () 77

(IV) B d 111
A. I-d, ll-c, 1l1-b, IV-a
B. I-a, ll-c, IlI-b, IV-d
C. I-b, Il-c, Ill-a, IV-d
D. I-d, ll-a, IlI-b, IV-c

A. 1-d, ll-c, IlI-b, IV-a
B. I-a, ll-c, lll-b, IV-d
C. I-b, ll-c, Ill-a, IV-d
D. I-d, l1-a, IlI-b, IV-C

75. Metal is refined by using different 75. et &1 e fafie fafRr g for
methods. Which of the following Sirar 21 e arasty ° forg gra &1 3neE
metals are refined by electrolytic - méﬁmm%
refining? © '

() Au (1) Cu () Au (i) Cu
(1 Na  (IvV) K (I Na (V) K
A. (1) and (1) A. (1) ST ()

B. (1) and (1) B. (1) 3 (Il

C. (I and (I C. (1) 3 (1)

D. (I11) and (IV) D. (I11) 3 (IV)
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76. Match the compound given in Column  76. Tt (1) 3 iTehi shT SATRAERTOT STaET

(I) with the oxidation state of central 1T (11) & Tl st firersa-
metal atom / ion given in Column (11). — —
Column Column FIAH (1) . ICH (1)
(0] (1)} (1) [CO(C204)3] @ 0
3—
(1) [Co(C;04)s] (a) 0 (1) [Co, (CO)] (b) 2
(1) [Co,(CO)g] (b) 2 (1) [Co(NH,),Cl1,]S0, (c) 3
(1) [Co(NH3),Cl,]SO, (c) 3 (IV) [CoCl,(en),] (d) 4
(1V) [CoCly(en), ] (d) 4 A. I-c, l1-d, 1ll-a, IV-b
A. I-c, 11-d, Ill-a, IV-b B. I-c, ll-a, llI-d, IV-b
B. I-c, ll-a, llI-d, IV-b C. I-a ll-d, lll-c, IV-b
C. I-a Il-d, lll-c, IV-b D. I-b, ll-c, lll-a, IV-d
D. I-b, ll-c, lll-a, IV-d
77. Which one ion shows d-d transition 77. e 0 @ 9 91 A d-d HshHoT o
and Paramagnetism? STarEhed SITaT &7
A. —
MnO, A. MnO;
B. cr,07° B. Cr,07?
C. —
Cro, C. cro;
D. -2
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78.

79.

80.

Direction — Assertion (A) and Reason
(R).

Assertion (A) : Sulphur present in a
compound can be estimated
quantitatively by Carius method.
Reason (R) : Sulphur is separated
easily from other atoms in the
molecule and get precipitated as
golden yellow solid.

A. Both Assertion (A) and Reason
(R) are true Reason (R) is the true
explanation of Assertion (A).

B. Both Assertion (A) and Reason
(R) are true Reason (R) is not the
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

In the borax bead test the compound
formed is-

A. Orthoborate
B. Metaborate
C. Triborate

D. Tetraborate

Titration between strong acid and
weak base the indicator used is-

A. Phenolphthalein
B. Thymol blue
C. Fluorescein
D. Methyl orange

78.

79.

80.

fader — SAfirRYT (A) T &R0 (R)
AR (A) : ATk A Sufkerd e
(TTHT) T TR ferswor ki fafer @
T gl

HIOT (R) : U] H IUTET T (HTH)
AT HTEHT § Gt dict 4 o &0 H
&Y & ST 2

A. 2T AR (A) 3T FHIT (R) T
2 T BT (R), IR (A) T Tt
TR B

B. M AN (A) 3T FHNT (R) T
2 T T (R), SR (A) T
T ST B

C. 3T (A) T &, T (R) 3T
2l

D. AT (A) 3T 7, T (R) T
2

S sfte gdteqor o Afireh ST 2-

A. TefEie

B. TeEiE

C. grsaie

D. &Ee

STRATCH, Ta=Io0T SaTet 3eed 37N goiet

&I FoTe STk e gr-

A. BT

B. oI 5

C. TAREH

D. fyemss ems
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81.

82.

83.

Identify the formula of Oleum.
A. H,S,0:
B. H,S,0q
C. H,S,0,
D. H,S,0,

Which of the following Ni complex
compound shows dsp? hybridization?

A. Ni(CO),
B. [Ni(CN),T”
C. [NicI,I”

D. [Nienz]z_

Match the Xenon compounds from
column () with correct structure in

column (I1)
Column Column
(0 (1)

() XeO; (a) Square pyramidal
(I1) XeOF, (b) Distorted octahedral
(1) Xek, (c) Pyramidal

(IV) XeF; (d) Square planer

A. l-a, lI-b, I1I-d, IV-c

B. I-c, II-d, lll-a, IV-b

C. I-c, ll-b, lll-d, IV-a

D. I-c, ll-a, llI-d, IV-b

81.

82.

83.

Hifera o o sht T il
A. H,5,0;

B. H,S,0,

C. H,5,0,

D. H,S,0,
frfafaa Ni % depet A1feRT & & i
dsp? HeRToT T fITd LT 87

A. Ni(CO),

B. [Ni(CN), "
C.[Nicl, I
D. [Nienz]z_

ST % ARt Bt hrerd (1) T ST
HTET T (I1) o STTHT | ST
T -

e (1) H1eAd (11)
(1) XeOz (a) o WS
(I) XeOF, (b) T sTwerhia
(II) XeF, (c) W™
(IV) XeF, (d) 99aet SR
A. l-a, lI-b, Il-d, IV-c
B. I-c, II-d, lll-a, IV-b
C. I-c, ll-b, I1I-d, IV-a
D. I-c, ll-a 1l-d, IV-b
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84.

85.

In second period of Modern periodic
table the correct sequence for
increasing of first ionisation enthalpy
of elements will be-

A. Li<Be<B<C<N<O<F<Ne
B. Li<B<Be<C<N<O<F<Ne
C. Li<B<Be<C<O<N<F<Ne
D. Li<Be<B<C<O<N<F<Ne

Direction — Assertion (A) Reason (R)
Assertion (A) : Oxide and Carbonate
ores are concentrated by froth flotation
process.

Reason (R) : In froth flotation pine oll
Is used to wet the ore particles.

A. Assertion (A) and Reason (R) both
are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Assertion (A) and Reason (R) both
are true and Reason (R) is not the
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

84.

85.

AT HTerd AR o e T
el 2l T2 ST Tt 31 sl shH
e

A. Li<Be<B<C<N<O<F<Ne
B. Li<B<Be<C<N<O<F<Ne
C. Li<B<Be<C<O<N<F<Ne
D. Li<Be<B<C<O<N<F<Ne

fodaT — 2Af7eRe (A) U1 (R)

AR (A) : T Sccttad fafer gra

ATFATES, FHIHE ITIhT hl AEIT fohT

SIGIR

T (R) : SN SccATa fafer o, I1ey o

ShT TN STIEH HVIT kT 7 Bt o BT

2l

A. NI (A) 3R FRT (R) SHT
2, TIOT (R) SARRYT (A) T T
TS 2

B. AN (A) 3T HRT (R) SHT T
2, TIOT (R) ARRAT (A) T T
TEiehToT e R

C. JNRE (A) 9 8 WY FRT (R)
I B

D. e (A) H 8 W FRT (R)
TR
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86.

87.

Direction — Assertion (A), Reason (R)
choose correct alternative-
Assertion (A) : H,C=C=CH, have

sp2 hybridization on all carbon atoms.

Reason (R) : All carbon atoms are
joined by double bond with each other
in the molecule.

A. Assertion (A) and Reason (R) both
are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Assertion (A) and Reason (R) both
are true and Reason (R) is not the
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

Reduction of Aldehyde or Ketone into
hydrocarbon using Zn-amalgam in
presence of concentrated HCI. The
reaction is named as-

A. Cope reduction
B. Dow’s reduction
C. Clemmensen reduction
D. Wolf-Kishner reduction

86.

87.

fadsr — S1firReT (A), #ROT (R) T

ferered -

3R (A) : H,C=C=CH, Haft

TSl TATY Sp° W 3

IO (R) : 307 & Gl ahralqy oemmo] fiarer

EQUS EX

A. ITMFHAT (A) 3R FHROT (R) SHT T
2 AT T (R) AT (A) 1 Tl
TSR R

B. AN (A) 3T HNT (R) SHT I
2 TqUT T (R), ANTHAT (A) 7 T
TR TET 2

C. T (A) T &, T (R) 31T
2

D. AR (A) 319 §, HROT (R) T
2

TCSIRTES AT ohe I T BTSEIhTSH H Zn-
STYSTH qT GT=5 HCI sl Sufeerfa o
A=A <Y fram sk fore 9 & ST ST

27

A. FIT T

B. & U=

C. FATHT TI=H
D. Iow-fohst 3T=r—
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88. Arrange the following Alkyl Bromide

89.

compound in decreasing order of rate
of B (beta) elimination reaction

Alcoholic KOH solution-
H

|
|
CHj

(1) CH;—-CH,-Br

(i) CH;—-CH,-CH, —-Br

A (1IN > () > (1)

B. (1> (1) > (1)

C. (D> >

D. (1> (> ()

Direction — Assertion (A), Reason (R)
choose the correct alternative-

Assertion (A) : Formaldehyde is a
planar molecule.

Reason (R) : It contains sp2
hybridized carbon.
A. Assertion (A) and Reason (R) both

are true and Reason (R) is correct
explanation of Assertion (A).

B. Assertion (A) and Reason (R) both
are true and Reason (R) is not the
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

(1

88.

89.

freferfaa ufearat stmmse Afiemr 6
Ueshialferd KOH foret@a grr B (sfier)

faretioe <t €F, TIed shi | Safeyd hifsiu-
H
I

() CHs— C—CH,—Br

|
CHj

(If) CH;—-CH,-Br

(i) CH;-CH,-CH, —Br
A. (ID> D) > (D)

B. (IH>{D)>()

C. (D>my>(n

D. (1) > () > (1)

fdT — 2AfieRe (A), FROT (R) Tl

ferehe gfu-

AT (A) : FHICSETES o AT ]

2

HIOT (R) : IH sp? Thfid shisi BIaT B

A. ANTERYT (A) 3R FRT (R) SHT
2 TqUT I (R), AR (A) 7 Tl
TS 2

B. AN (A) 3T HRT (R) SHT T
2 T BT (R), AR (A) T H&Y
TSR T2 R

C. SANHIA (A) 6 8, W FHNT (R)
I B

D. e (A) U 8, W FRT (R)
qa R
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90. When ethylene oxide treated with
RMgX gives compound-

A. Primary Alcohol

B. Secondary Alcohol
C. Tertiary Alcohol

D. Cyclopropyl Alcohol

91. In series of reaction acetic Acid yield
a product C. Identify the product C-

CH,COOH + PCl; —
a CeHe . 1y

CoHsMgBr

Anh AICI; dry ether
CH;CH(OH)C,H;
CH;COC¢H:
CH3;CH(OH)C4zH;

CzHs
CH; - (|3H (OH)CgH;

oo w»

90. geficfiT SATeRATSS T RMgX & foham s

91.

T T ITH BT 2-

A. Trifirh Teshied

B. fafoare tepiee

C. eI Ueahied

D. TTEFAIdIet Teeheet

AffsRaT T 2vf 7 THifeeh 37T Ueh ST

C SHTET ®, C i U= shi-
CH,COOH + PCl; —

4 CeHsg S C,HsMgBr e
Anh AICI I 2R

A. CH;CH(OH)C,Hg

B. CH;COC4H;

C. CH5;CH(OH)CyzH;

D. CoHs

|
CH;— CH (OH)CgHs
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c

92. {4 4§ FHET GT=HT TUSES 2T hl

92. Which of the given structure correctly

) Yh § SI<h hidt 27
N
|
H

|
C
|
C
I
o)
|
C
|
|
C
|
—C
I
o)

=
o- |
£ o0o=oO
< _ —-—0-—
S T | _ _ |
© z —Q- Q- | zZ-1 o~
© | | —_ |
= —-—O— —0O—- — 0o=—0 — —-0O—-
= ¢ el e = e
S Z_T —-—0— _ | o=o0 —0O-— —0O— O=0
@ | | O— | | | |
E= 0=0 o= ! —0—- I-Z —O0— I—-Z
= _ | —0O— _ _ _ _
& I—2Z T—2Z2 ! T—2= O=0 T—= —0O—
075} _ [ Ir—-= [ | | _
o
o .
L < m @) a)
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93.

94.

Organic compound A - molecular
formula C,Hy Br on treatment with

alcoholic KOH gives two isomeric
compound B and C with formula
C,Hg. On ozonolysis, B gives only

one product CH;CHO while C gives

two different products. Identify the
compounds A, B and C.

A. 1-Bromobutane, But-1-ene, But-2-
ene

B. 1-Bromobutane, But-2-ene, But-1-
ene

C. 2- Bromobutane, But-2-ene, But-
1-ene

D. 2-Bromobutane, But-1-ene, But-2-
ene

Which of the given vitamins are water
soluble?

() Vitamin A (Il) Vitamin B,
(11 Vitamin C (IV) Vitamin K

A. (1) and (I11) only

B. (1) and (1) only

C. () and (IV) only

D. (1) and (IV) only

93.

94.

TS ARTH A AT ET C,Hy Br &l
TEhIRITTT KOH & foram st we &
guTeet Mk B 3T C 3= hd &
STEeRT g C4Hg 21 B T SIS
& T T 3@ CH,CHO <d & Sifeh
C 31 forfi=T 391 < 21 AT A, B, C

EESIEEAIE I

A. 1SIHSY, Y- 134, Y2237
B. 1-SHISYH, 42-2-54, 542-1-84
C. 2SI, SE-2-5, Fe-1-81
D. 2-5HISgeH, q2-1-54, S42-2-54

ffafad ferfim g a s o
RN R

() foerfi= A (1) foem B,
(1) feer= C (V) faemrm K

A. e (1) 3 (1)
B. aat (1) 31 (11)

C. &ad (1) IR (IV)
D. aa (I1) 3R (1V)
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95. Arrange the bromine compound in

96.

order of their SN* reactivity-
() CH3CH(Br)CH;,

() CH,CH,BrCH, = CH,Br
(1) CHy=CH—CH (Br)CH,

A. (IH> (D) > (D)
B. (11> () > ()
C. (ID>)>(
D. (D> 1D > (1)

Match the correct Column (1) with
Column (I1)
Column-I
() Nylon
(1) Terylene
(1) Cellulose

Column-11
Ester linkage
Amide linkage
Phosphodiester
linkage
Glycoside
linkage

A. I-b, ll-c, IlI-d, IV-a

B. I-b, ll-a, Ill-d, IV-c

C. l-a, llI-b, lll-d, IV-c

D. I-d, ll-c, Ill-a, IV-b

(a)
(b)
(©)

(IV) RNA (d)

95.

96.

ST Rl Afirenient SN feramsfietar & shu
T SheES ohi-

(I)  CH;CH(Br)CHj

(I) CH,CH,BrCH, = CH,Br
(ll) CHy=CH-CH(Br)CH,

A. (> D> (D)

B. (111)> (1) > (1)

C. (In>Mn>@

D. (D> (1> (1)

HTAH-1 § FHIH-11 1 g2l fre Shifsie-
hlcTH-1 hlcTH-11

1) TEAH  (a) $E Y (fofeha)

) HefT (b)) TEETEA

(1) SFAS  (c) HRBISTEFER U

(IV) ARTAT. (d) TAIRETEES SeT

A. I-b, ll-c, 111-d, IV-a

B. I-b, Il-a, 1I-d, IV-c

C. I-a, lI-b, l11-d, IV-Cc

D. I-d, ll-c, lll-a, IV-b
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97. Match the correct Column () with
Column (I1)-

Column (1)
(1)  SN! Reaction
(1) Elimination of HX from RX
(111 Bromination of Alkene
(IV) Alkylidene Halide
Column (11
(@) Vic. dihalides
(b) gem dihalides
(c) Saytzeffrule
(d) Racemisation

A. I-d, ll-c, Ill-a, IV-b

B. I-c, lI-d, Ill-b, IV-a
C. l-a, ll-c, Il-d, IV-b
D. I-b, ll-c, Ill-a, IV-d

98. Vitamin B,, contains-

A. Fe(ll)
B. zZn(ll)
C. Ca(ll)
D. Co(ll)

97. ™ (1) & T (I1) § T Sl sTga-

W)

™ (1)
SN* srfufsrar

() RX ¥ HX o foei=
(111) UehIT T SHTeRT
(IV) TeshleliEH 3aTgs

e (10)

(a) fToo-emEeaEs
(b) SH-SEEAES
(c) UI~E =
(d) e

A

98. faerfim B,, ® 3uftud giar 2-

>

O O w

I-d, Il-c, Ill-a, IV-b

B. I-c, lI-d, Ill-b, IV-a
C.
D

I-a, ll-c, 11-d, IV-b
I-b, Il-c, Ill-a, 1V-d

Fe(ll)
Zn(Il)
Ca(ll)
Co(ll)
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99. Arrange in increasing stability 99. fo T 2 Tefitet YA ol FHTAGARIA I

sequence of the given carbocation of 2 3ok S TATRIcdT o e H I od
methy!| butane- i

+
) CH;—CH,—CH,CH ;
() CHy~CH, =CH, ~CH: () CH,—CH,—CH,—CH,

N
(1) CH,- CH-CH-CH;§

+
) CH,— CH—CH-CH
S, (1) CHz 3

+ CHS
(1) CH,- (|: —CH, —CH,

.
1) CH; - C-CH,-CH
I (1) CHg — C ~CH, ~CH

+ CHS
(IV) CHa— (|3H—CH2 —CHj

CHs
A. (IV) < (1) < (1) < (1)
B. (I)< (V)< (1)< ()
C
D

(IV) CHz— CH—CH, —CH,
CH
(V) <y < (1) < (1)

A
()< (av) <1y < 2- ()< (V) <@y < ()
D

Sy <(av) < <) (I <(V) <<

S <(v)y<@@n <@

100. Neoprene Polymer is obtained by 100. FRITS SIgeten ford Theteh o SIgatTehtor
polymerization of which monomer? 9T BraT 22
A. CH, =CH,CI A. CH, =CH,CI
B. CCl, =CCl, 8. col, —cal,
C. ¢! C. cl
CHz = C=CH=CH, CH, - C—CH=CH,
D. Ch=Ch D. CF,=CF,
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PART — 111 (A)

Candidates who have opted for 5 Sfiean 3 STrae o wa T &
Mathematics at the time of e =T o1, I T AT il 6T &Y 3R
application, should solve this section %?foaﬂﬂaaﬁﬁ eﬂﬁatré%—ww
and candidates who have opted for - 3 2
Biology at the time of application, Sirer forTe shr ferepe T, o 39 |
should not solve this section. A TG A |
Mathematics wfora
101. argument of i is- 101. i T hIvTish BNTI-
A m A ©
B. n B. n
2 2
C. T C. =&
4 4
D. 2=n D. 2=
102. 1f o is cube root of unity then value 102. Ff¢ @, 3oTS 1 S & A
of 2 4 8 10
l1-o )(1—0) )(1—0) )(1—0) )W
1- 02 )(1-0* )(1-0® )(1- ') is- (
(1-0%)(1-0* 1-o° ) 1-o") .
A0 B. 1 A 0 B. 1
C.3 D. 9 C. 3 D. 9
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103.

104.

105.

The sum of n terms of
I1x2+2x3+3x4+4x%5.....

A

n terms-

<(n)(n+1)(2n+1)
(M(n+1)(n+2)
%(n)(n+1)(n+2)

7 (n)(n+1)(2n+1)

If coefficient of x" in the expansion

of (1+ x)2n is A and coefficient of x"

in the expansion of (1+ x)zn_1 is B,
then-

() A=2B (1) B=2A
() A=B (IV) A =3B

A. (I)is correct

B. (), (IV) are correct
C. (I) and (1V) are correct
D. (1) and (1V) are correct

If A is Arithmetic mean, G is
Geometric mean and H is Harmonic
mean then-

) A>G>H () G?>=AH
() A<G<H (IV) A>=GH
A. (1) and (IV) correct

B. (1) and (II) correct

C. () and (1V) correct

D. (I1) and (IV) correct

103.

104.

105.

Ix2+2x3+3x4+4x5....n93 I n
el ek AT-
A.

%(n)(n+1)(2n+1)
%(n)(n+1)(n+2)
S(n)(n+1)(n+2)

%(n)(n+1)(2n+1)

At (1+x)>" FsEm X" 7 A
aem (1+x)™" ™ S yEmd X" i B
2 -

) A=2B () B=2A
() A=B (IV) A= 3B
A HE&e

B. (III)dr (IV) @& ?

C. ()T (IV)&&re

D. ()dur(IV) &t g

Al A GHT=L HTEA, G T ATEd qeT H
EICH AT § -

M A>G>H () G2=AH
() A<G<H (V) A2=GH
A. ()@ (IV) FEr ®

B. () (II) @€t ?

C. ()T (AV)a&r e

D. (I) a1 (IV) @& &
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(i

107. If A is any square matrix of order
nxn then-

() adjA’'=(adjA)

(1) A-(adjiA)=|Al-I
(1) |adjA|=A"

(V) AA =]

A. (1) and (I1) is correct
B. (1), (1) is correct

C. (), (1), (IV) is correct
D. (), (1), (1) correct

107.

108. x 1 1 1 108.
If is inverse of then
5 1 5 -4
value of x is-
A 1 B. 5
C. 4 D. -1

Al A, nxn Hife T T I AR & q@-
D) adjiA’ =(adjA)

1) A-(adjA)=|Al-1

(1) |adjA|=A"

(V) AA =]

A. (DT () aE?

B. (I), (I &1

C. (), (D), (IV) a&r 2

D. (D), (I1), (II]) &1 &

afe {X l}, {_1 1 } oh e B Al

51 5 4
X T HT SITT-
A 1 B. 5
C. 4 D. -1
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1009.

110.

111.

112.

If 6 parallel lines are parallel with x
axis and 5 parallel lines are parallel
with y axis then number of
parallelogram made with these lines
are-

A. 200
B. 150
C. 250
D. 300
The total number of possible matrices

of order 2x2 having each entry as 1
or 3is-

A. 27
B. 16
C. 32
D. 512

Value of cos (—1410°)
A 1

2

B. 3

2

C.

&

D. 0

If SinB; +5sinB, +sinB; =3 then value
of cosO; +cos0, +cosO; is-

O 0
do

1009.

110.

111.

112.

g 6 THT=R @ x 3787 o THI=R & qeiT
5 FHT=R @MY y 3787 o THT=R & af s
STt THT-X TSI shT & grfl-

A. 200

B. 150
C. 250
D. 300

2% 2 RITE o U TR hl ol ST
Foreht wferf® 1 3 3 8 8-

cos (—1410°) =kt °1H-
Al

2
R

2

B

O
[ &

D. 0

afg sin; +sind, +sinB; =3 T&
C0S0; +C0S 0, +COSO3 T A EITI-
A 3

B. 1

C. 0
D
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113.

114.

115.

If sin26 =co0s30 and O is acute angle
then the value of 1+ 4sin© where

sin18°:E
4

A 1

B. 5

C.0

D. 4

If cosx = —%, x lies in third quadrant,

the value of tan x is-
A. 1

3
B. _f3
C. f3

D. 1

Ve

Value of cos2x is-

(I) sin®x—cos®x

(I) 1-2cos®x

(D) 1-2sin?x

cot?x -1

cot’ x +1

A. (1) is correct

B. (I1) and (IV) are correct
C. () and (1V) are correct

D. (I1l) and (IV) are correct

(V)

113.

114.

115.

AT $in20 = cos30 TAT O =T FHIT 8 AT
1+ 4sin O =1 9T 81, SEf

sin18°=\/_5—_1
4

Al

B. 5

C. 0

D. 4

afs cosx =—%,aﬁxqﬁﬁﬁa§aﬁﬁ%
d« tan X 1 9 8-
A. 1

COS2X T A &-

() sin?x—cos®x
(1) 1-2cos?x
(1) 1-2sin?x
cot’x -1
cot® x +1

A. ()TEr?

B. (I) @ (IV) @&
C. (DTqAT (V)&= 2
D. (IIT) @ (IV) ¥ ®

(V)
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116.

117.

118.

If (1+1tan6)(1+tan26)=2 then value
of tan30 is-
A. 0

o O w
N[ NP

If 4sin"1x + cos ™ x = 7t then value of
X is-

A 0
B. 1

2
C. 2
D. 4

The angle of elevation of the top of a
tower standing on a horizontal plane
from a point A is o . After walking a
distance d towards the foot of the
tower the angle of elevation is found
to be B. The height of the tower is-

A. d
cota —cotf

B. d
coto + cotf3

C. d
tanp—tana

D. d
tanp +tano

116.

117.

118.

afe (1+tan0)(1+tan 20) =2 7=
tan 30 T AT 2T

A. 0
B. 1
C. 2
D. 1
2

afe 4sin"Ix+cosIx = n dF x HI UM

.UUPQ/

0
1
2

C. 2
D. 4

Teh feig A 9 &dsT a WEE Th T
STI ShT S~ RI0T o, B TTER o ST
3T d gl =Tt o e =1 101 B Ur
ST & 2Ter oht SIS @8-
A. d

cota —cotf
B. d

cota +cotf
C. d

tanp —tana
D. d

tanp +tano
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119.

Solution of trigonometric equation
2sin?x —3sinx—2=0 is-
A X = nn+(—1)n%t,n eZ

x=nn+(—1)n%,n e”Z

C. X=nm,ne’Z
D. Xx=2nm,ne”Z

119. Brenrorfafaer gt

2sin? X —3sin X —2 =0 &7 & BT

C. X=nm,ne”Z
D. X=2nm,ne”Z

' x=nn+(—l)n%,n €

x =nm+(-1)" T

120. 120.
I tan~Lx —cotx = tan "L = then af tanLx —cotx = tan "t = T x
V3 V3
value of X is- T HH EIT-
A. i A 1
V3 Ng
B. 1 B. 1
C. 3 c. &3
D. 0 D. 0
121. Area of triangle whose coordinates are 121 ferget (a,b+c),(b,c+a) qur
(ab+c),(bc+a) and (c,a+b)is- (c,a+b) &&= B 1 &=het ThTT-
A. abc A abc
B. a2 4+p?+¢? B. a2, p2.4c2
C. ab+bc+ca C. ab+bc+ca
D. 0 D. 0
SPACE FOR ROUGH WORK / T% &1d @ forar sirg
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122. The length Latus rectum of ellipse 122. Sfemt ox2 + 4y? =1 F firerE 1

9x? +4y? =1 is- TS B
A 3 A 3
2 2
B. 4 B. 4
d 9
C. 8 C. 8
3 3
D. 8 D. 8
9 9
123. The angle between the two lines 123. 31 v@ret et faspehrsant
whose direction cosine are 21-m4+2n=0 a7 Im+mn+nl=0
ii_l—m+2n=0 and Im+mn+nl=0 el 6t el 2. 3 A 1 A 2
A = A. n
5 6
B. n B. k2
42 42
C. = C. T
3 3
D. = D. T
2 2
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124.

125.

126.

A projection of a vector in three
dimension coordinate is 6, -3, 2 then
direction cosine is-

A.

Which of the curve represented by the
equation

4x? +16y? — 24x —32y —12 =0,
A. Parabola
B. Pair of straight lines

C Ellipse with eccentricity %

B3

' Ellipse with eccentricity -

For what value of b, the line
X +2by+7 =0 is the diameter of the

circle x2+y2—6x+2y:0?
A. -5
B. -3
C. 2
D. 5

124.

125.

126.

r-fesTion 31ef W ue wiewr & &9 6, -3,
2 R\ wfewr T fspehrsat 2-

A

gHieRTor

4x? +16y? —24x —32y —12 =0, T\
oIsh ol &Y LT 2-

A. TEAY
B. WS @A W

C %Wwiﬂﬁﬁﬁ

D. ﬁ I
> Scohr5all BT ek

I A T x+2by+7=0 34
X2 +y? —6X+2y =0 H A LA b

T T BT
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127. For what value of k the lines 127. s X1+l _z-1 &

x-1_ y+1_z-1 and 2 3 4
2 s 4 X=3_Y=K_Z oy drica
x-3 y-k z i 1 2 1 ’
2 ==L 2 _Z greintersect-
1 2 1 O 2-
A. g A. 3
2 2
B. 9 B. 9
2 2
c. -2 C. -2
9 9
D. None of these D. hIS dT&dtaeh q Tl
128. | the line 2x ++/6 y = 2 touch the 128. afe @ 2x + /6 y = 2 iR
hyperbola x2 —2y? =4, then x% —2y? = 4 1 T QT 2 A T forg
coordinate of tangent point is- o TS3Tih 2-
A.
B.
(-5.26) B. (5,246
C (1 ij C. (1
B %)
D.
(4-6) D. (4,-6)

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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129.

130.

131.

What is the equation of circle whose
radius is 5 and touch the circle

X% +y? —2x—4y—20=0 at point
(5, 5)?

A X2+ y2 -18x-16y+120=0
B. x2+y?-27x-19y+130=0
C. x?2_y?_18x-16y+120=0
D. None of the above

The equation of the plane passing

through line of intersection of two
planes x+y+z-1=0 and

2X+Yy—-3z+2=0 and point (1, 1.1)-
A. Xx—4z+3=0
B. x-y+z=1
C. X+y+z=2
D. 2X—-y+z=2

n+1

li 3n—-4) 3
y LGin“’(smzj

Then value of L is-
A -1
e3
B. -2
e 3
C. e_l
D. None of these

129.

130.

131.

T o forereht Bean 5 2 it aa

x% +y? —2x -4y —20=0 Frforg
(5, 5) T T3} AT &, T THIHTT 2-
A x24+y?_18x-16y+120=0
B. x?+y?-27x-19y+130=0
C. x2_y?_18x-16y+120=0
D. 8 & IS T

qHAAT X +y+2-1=0 3R

2X +y —3z2+2 =0 % Jicesed W@ g

3 foreg (1, 1.1) TORA afTed Hoered a0
HHeRToT -

A. X—-4z+3=0
B. x-y+z=1
C
D

X+y+z=2
. 2X—Yy+z2=2

n+l
i 3n—-4) 3
=\ 3n+2

sl L ohT 59 8-

A.

-1
6‘3
B. -2
e 3
C. e_l
D. 9 s T8
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132. Solution of differential equation

dy

dx
A.

B.
C.
D.

=" Y +x% Y is-

3
X
eY=e*+—+C
3
e =" +2x+C
e =eX+x3+C

y=e*+C

133. Minimum and Maximum value of the
function f (6) —1-c0s%0+cos* 0 is-

A
B.

C
D.

(0.75,2)
(15,2)

. (051)

None of these

134. The gradient of the curve at (X, y) is

1- iz and it passing through the

X

point (2%) then equation is-

A.

B
C.
D

y:x2+x+1

2

Xy =X"+x+1

Xy =x+1

. None of these

Jdehel THIRT T 5
X

1 B 8-

A. 3

X
ey zex+?+C

B. oY —eX+2x+C
C. e¥=e+x3+C
D. y=eX+C
133.
= T HATEHTH 7 -
A. (0.751)
B. (15,2)
C. (051)
D. T & i3 Tel
134.

—L =Y 4 x%Y

% f(0)=1—cos? 0+cos” @

Teh sk fSeht (x, y) 9 Jarorar 1— s

X2

e forg [2%) ¥ TSRAT &, 31 TR

2-
A y=x®+x+1

xy:x2+x+1

O W

Xy =x+1

. TTH E I AR

)
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135.

136.

137.

2
Let Il :I dX

1\/1+X2

= I—then-

'l

> 1, B.
C. =1, D.

and

I, > 1

> 21,

2
2t 1-t then value of

D. None of these

If the function f(x) satisfies all the
condition of Mean value theorem in

the interval [0, 2] and f(0)=0 and
for all value of in [0,2] f’(x)‘ <0.5,

then-

135.

136.

137.

nFnIl:T o aaT|2=2d—Xaa.
1V1+X 1\/X72
A li>1, B. I,b>1
C. l=1, D. I;>2l,
aﬁx:iz, _1-t aady T A
1+t 1+t2  dx
A 2t
1+t2
B2t
2 -1
C. 2t
1-t2
D. T & #iE Tt
AT f(x) HEIHT T8 <t |t 31t st

I [0, 2] H T FT & Al

f(0) =0 3R 1= [0, 2] H x o &l

f’(x)‘sO.Saa-

A f(x)<2

B. ‘f(x)‘g

C. f(x)=2x

D. [0, 2] ® x % &7 ¥ & Tsh U & [T
f(x)=3
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B. tantx+ C(x+2)
C. tan?(x+2)+C

D. (x+2)tan*(x+2)+C

139 x2sin 1, X #0
If f(x)= X
0 Xx=0
Then-
A. f(0+0)=0

B. f (0 - 0) =0
C. Continuousatx=0
D. None of these

140. The area bounded by the curves
x? = 4yand y? = 4x is-
A. 32 .
—sQ. unit
3

Esq units
350

C §sq units
350

D. 0sg. units

, then value of | is-

138.

139.

140.

dx
x2+4x+5

A tanIx+C

B. tan~1x +C(x+2)

?ﬂ%I:I s [ T 9T 81TI-

C. tan(x+2)+C
D. (x+2)tan*(x+2)+C

.1
x2sin =, x#0

afe f(x)= X
0 x=0
qd-
A. £(0+0)=0
B. f(0-0)=0
C. x=0WHEIdg

D. & & IS el

ThT X2 = 4y qUT y? = 4X BRI ISR
& 3T & ©-

A %aﬁw@

B. %aﬁw&

c. gaﬁswé

D. 0 3hTS
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141.

142.

143.

144,

If one of the root of equation

x3—3x—5=0 lies between 2 and 2.5,
then value of other root, by using
Newton Raphson method is-

A. 225
B. 2.33
C. 235
D. 245

If the coefficient of Line regression
between x and y are 0.8 and 0.2
respectively, the value of coefficient
of correlation between x and y is-

A. 04 B. 0.6
C. 03 D. 05

How many positive and negative roots
the function f(x) =x>+4x? -10?

A 1,2

B. 2,1
C. 1,1
D. 3,1

If A and B are two events such that
ANB=#¢, P(A/B) = P(B/A)
Then-

A. A=B

B. P(A) =P(B)

C. A and B are independent events
D. All of the above

141.

142.

143.

144,

TR x° ~3x ~5=0 HTH A2 T
2.5 % T §, =T {HUH ToIfer 1 ST
G HH T TSI

A. 225

B. 2.33

C. 235

D. 245
a%xamy%aﬁaaﬁﬁwww
0.8 TAT 0.2 & AT 3Tk o=l TEFe T
VT
A. 04
C. 0.3

B. 0.6
D. 05

% f(x)=x3+4x% ~10 % fore
YTCH Td SHUTCHe T 87

A 1,2

B. 2,1

C. 1,1

D. 3,1

afe A 99T B 39 TR T 51T foh
ANB=¢,P(A/B)=P(B/A)
dd-

A. A=B

B. P(A)=P(B)

C. A QYT B &&d 92§

D. &t
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145. 1f the line of regression are
3X+12y =19,9x + 3y =46,

then value of r,y is-

146.

147.

A

B
C.
D

0.289

. -0.289

0.209

. None of these

The value of I;ld—xx by using
+

trapezoidal rule, if n=4.

A

B.
C.
D.

0.6870
0.6677
0.6970
None of these

If O is the angle between two
regression line the value of © is-

A.

D.

_ . _
b, ——

1 ¥ bxy
1+bﬂ

L byx i

yx"bxy'_

bxy+byx

tan

b 1

tan

- .
bo — =
1 o be
1+bﬂ
byx

None of these

tan

145.

146.

147.

gfe 31 gHTR W&

3x+12y =19,9x +3y =46 &
Tl 1y, 1AM A0

A. 0.289

B. -0.289
C. 0.209

D. 378 @ IS el

n = 4 & fou sosiTed w6 g @

1 dx ST T BATI-
01+x

A. 0.6870
B. 0.6677
C. 0.6970

D. & & IS e

Ife S GHTHHTO W3] o HET HI0T O B Al
0 T T BITI-

A. 1

tan

tant| Dx Do 71

tan~t

D. Eﬁﬁaﬁéﬁf
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148.

149.

150.

A coin tossed n times, if X denoted the
occurrence of Head and if
P(X=4),P(X=5)and P(X=6) are
in arithmetic progression then what is
value of n?

A. 13

B. 7

C. 11

D. None of these

In which interval the equation

x3 —2x—-5=0, occurs positive roots
of equation-

A. (0,1)

B. (1,2

C. (2,3

D. (3,4)

In a bag 3 black and 2 red balls,
without replacement one by one 3
balls are randomly selected, then what
Is probability third ball is red?

A. 0.25
B. 0.40
C. 0.60
D. 0.33

148.

149.

150.

Toh EeeTd T4k %I n SR ISTAT ST 2
afe ¥ 3T i T X & ar
P(X=4),P(X=5)H94TP(X=6)
TR oft T &Y el n T T ST

A. 13

B. 7

C. 11

D. & & IS el

efiehaer X3 — 2x — 5= 0 T FTeHH 0

D. (3,4)

Th 9A | 3 hied! o 2 AT Tig B1 forT
fereentud fort Uk ues otk 9 § 3 7S
fenTedt STt @ ofier Tie ot B9 fh
TR &-

0.25
0.40
0.60
0.33

o w >
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PART — 111 (B)

Candidates who have opted for 5 Sufieam 3 e1maed & aua S fagme
Biology at the time of application, 1 forehed =T 9T, 3 39 WIT hl BT i AR
shogld solve this section and o ST 3 ST 5 g e
candidates who have opted for 3 N _Eﬁ{
Mathematics at the time of Ferehee AT T, o 0 77T 1 BT T&l B |
application, should not solve this
section.
Biology RIERERICH
101. During Mitosis, ER & Nucleolus 101. et forvrs o SR forw srareer
begin to disappear at- eI Lehard I [ ied
A. Late prophase e B T -
B. Early Metaphase A %qufmm
C. Late Metaphase .
b B. TR HeATaE
D. Early Prophase
C. T qeATaET
D. AT qatereen
102. The active site of an enzyme is formed ~ 102. T-iTsH =T Gfsha et 36 o T H
by some of its- ST 8-

A. R group of amino acids

B. Amino groups of amino acids
C. Carboxyl groups of amino acids
D. Exposed Sulphur bonds

A. THIT 37T % R 998
B. THIHT 37F o ST wg
C. ST 3TFA & HTlioeeT 68

D. THHIES (IFEA) o 518

103. Water pollution causes- 103. SfeT SgoT oh 0T ------ AT R
A. Increased Photosynthesis A. ST g TR HEIN0T
B. :SEt:?c?isld deoxygenation and B. %T‘g’CﬂT% IO
C. Decreased turbidity C. edfifefe it
D. Increased oxygenation D. G g3 HATFHISHIA
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104.

105.

106.

107.

The biggest compulsion of plant
breeding is-

A. Infrastructure

B. Trained manpower

C. Transfer of genes from unrelated
sources

D. Availability of desirable gene in
the crop and its wild relatives
The F, Ratio of Recessive Epistasis

Is-

A 9:6:1
B. 9:3:4
C. 12:3:1
D. 9:6:9

Centrosome is found in-
A. Cytoplasm

B. Nucleolus

C. Chromosomes

D. Nucleus

At which site is the protein of viral
coat synthesized?

A. Plasma membrane

B. Mitochondria of Host
C. Ribosomes of Host
D. RNA of Virus

104.

105.

106.

107.

qTeq I (SEI) ot Terd el arear &-
A. ST HTEHT

BINIEEGISEET)

TSI BT & ST T TR
THA H Fi5d S shl SqAsLdT 3T
3G SHTeT fgdar

O O w

frarféa ufteerfeE &1 F, STaTa @ 22
A. 9:6:1
B. 9:3:4
C. 12:3:1
D. 9:6:9

I T ST &
A. FIRTHES
B. =gferrsiicrd
C. U5
D. %5®
S 1 T NS foper Toret IT Esbfir
I &7
A. T et
. DTS T HTgEhI-g AT

B
C. USEM &1 TFSE
D

. T H AR T T
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108. What is the most common food
preservation method?

A. Freezing
B. Fermentation
C. Lyophilization
D. Heating

109. Linnaeus published Binomial
Nomenclature in-

A. Genera Plantarum

B. Species Plantarum

C. Origin of Species

D. Proceedings of Linnean Society

110. Mutation arise due to change in a
single base pair of DNA. This is
known as-

A. Frame Shift Mutation
B. Nonsense Mutation
C. Point Mutation

D. All of the above

111. Hormones which replaces the
requirements of vernalization is-

A. Kinetin

B. ABA

C. Gibberellin
D. Cytokinin

108.

1009.

110.

111.

Y T @ EeT fafer s 82
A. SHAT

B. fovaa

C. foafrarssem

D. TH&HET

e = fgue TmHeRor & ----- | JeRTieTd
femam

A. 991 A

B. YSIT(d T

C. YSId sht Sca

D. efaT amfe s sefer
ST DNA o Tehel SATIR I |
qREd % FHROT S BT &, 30 ST AH

STHT ST 8-

A. 9 f3Tee Sefada
B. fede Iaufada
C. @ise 3eaiaa
D. 3Tk aeft

______ TTHI ST S IRLT St SATaTIHATS
ol g s &
A. FTERA

B. TdY

C. foesifem

D. AEFEHT
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112. Megasporophyll of Selaginella is 112. TSI o TEsASITo[ul shi SATqesT

comparable to which structure of F1 fore =T O I7T T Tohd 82
Angiosperm? , >
A. ST
A. Carpel
B. Stamen B. T (T) HEX
C. Ovule C. diSie
D. Leaf D. Ut
113. Transfer of Pollen grains from Anther 113. oEnTeRUTt BT TS @, fo=T qer o
to the Stigma of a different plant is AT doh TATATALOT T —-eemee e STdT
known as- 3
A. Cleistogam
Jamy A. T
B. Autogamy
C. Geitonogamy B. ¥-Wrm
D. Xenogamy C. et
D. s @i
114. Etiolation is caused in green plants 114. ST EL R Bl---- | ST ST B ¥ S0
when they are grown in----- TG (TR I 2 STl 2
A ngr: A. S
B. Dar
C. A& BBoth B. .
D. None of the above C. ASBIH
D. YRR § | IS el
115. In the Embryos of a typical dicotanda ~ 115. we faf¥re fesiisrosiia R =me & gor
grass, true homologous structures are- ATEA I TSI S 8 &-

A. Coleorhiza & Coleoptile
B. Coleoptile & Scutellum
C. Cotyledons & Scutellum
D. Hypocotyl & radicle

A. FIATEST 3T Hifereza

B. wIfciaTerse IR ©peam

C. offSi il wpeam

D. USRI 3T Hha
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116. Prokaryotic and Eukaryotic flagella
differ in the-

A. Type of movement & placement
B. Location & mode of functioning

C. Microtubular structure and
function

D. Microtubular organization and
type of movement

117. Sugar is extracted from sugarcane and
also from the crops of -------
A. Potato
B. Sweet Potato
C. Beet
D. Tapioca

118. The names associated with first man
made recombinant DNA molecules is-

A. Paul Berg

B. Annie Chang

C. Stanley & Boyer
D. All of the above

119. Each trophic level has a certain mass
of living material at a particular time
is called as-----

A. Food crops
B. Feed crop
C. Fiber crop
D. Standing crop

116.

117.

118.

119.

STeRfTTeeh TR YehTTeeh hemieRt §
X BIaT 2-

A. T (TT(e) 3T JehT TR T

B. & & T T R ekt

C. YEweiy AT 3R

D. G&HT TS HIT T T ThR

T T B AT —--—- B Bt & ot et
Sk

A. I
B. I%Lhe
C. Tohet

D. 2fustrnt

£21 > EIEESER

Tedeh TIN0T T | Ueh fores a9 u¥ Sfifara
i o1 e A seaae B § S
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120. Quiescent centre is present in- 120. FRpEE Tt (21 ) HISE -

A. Root apex A. eIy
B. Shoot apex B uite sf
C. Vegetative apex
; o C. aeff fi
D. Reproductive apex
D. S 3
121. List the correct sequence of organs 121. 37 & SRR & ) e 8 @ 3wt
through which air passes into the FHTEE BT
body. .
y A. TIHeT, e, T, AT, geHT,
A. Nose, Larynx, Pharynx, Trachea, ;
Bronchi, Lungs ?
B. Nose, Pharynx, Larynx, Bronchi, B. ATTEshT, TEH, 33, 4, Araee,
Trachea, Lungs %R
C. Nose, Pharynx, Larynx, Trachea, C. iftreT To S, Aol g
Bronchi, Lungs s ’ C ’ ’
D. Nose, Trachea, Pharynx, Larynx, ' )
Bronchi, Lungs D. TR, graett, e, a3, 4w,
HEHST
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122. Assertion (A) : The name ‘master

123.

endocrine gland of body’ is given to
the Pituitary gland.

Reason (R) : Hypothalamus controls
over the master gland.

A. Both Assertion (A) and Reason
(R) are true, but Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true, but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true, but Reason
(R) is false.

D. Both Assertion (A) and Reason
(R) are false.

Match the following hormones with
disease:

Hormones
(@) Insulin (I) Addison’s disease
(b) Thyroxin (Il) Diabetes mellitus
(c) Corticoids (I11) Acromegaly

Disease

(d) Growth (IV) Goitre
hormone
A. a-ll, b-1V, c-1, d-11l

B. a-1V, b-1, c-II, d-1ll
C. a-ll, b-1V, c-1ll, d-I
D. a-lll, b-1, c-ll, d-1V

122.

123.

AR (A) : TR 3T T ST AT ATRX

=@l Tfer = fe= = R

T (R) : TTEUTATHE WL T

ERIERETGIRS

A. IfFHAT (A) T HRT(R) SHT TH &,
fefe IO (R), SRR (A) T E&T
e 2|

B. MR (A) o HHOT (R) SHT AT B,
fefm SRIUT (R), HAWHAT (A) 1 @Rl
T eRToT TET B

C. JNRA (A) HA B, Tohe 1T (R)
A 2|

D. ANRYT (A) o HROT (R) SHT 3T
2l

o BT Rt Heifera T ok |y sy
kil am

(a) Fgfe () fewwam

(b) URRIfFET (1) SHEfEE Belged

(c) iichsed  (III) TERITHICAT

(d) Fr=ETHT (V) TR

A. a-ll, b-1V, c-1, d-11I

B. a-1V, b-I, c-11, d-11

C. a-ll, b-1V, c-I11, d-I

D. a-lll, b-1, c-Il, d-1V
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124. Olfactory receptors are responsible for

125.

126.

detecting-
A. Light
B. Sound
C. Smell
D. Taste

Dental formula of adult man is-
A. 2123
2123
B. 2122
2122
C. 2123
2124
D. 2132
2132

The following are the heart valves:
() Aortic semilunar valve

(1) Bicuspid (mitral) valve

(1) Pulmonary semilunar valve

(IV) Tricuspid valve

Sequence of blood flow from left arm
to heart-

A. (1), (1), (1), (1V)
B. (1), (1), (1), (IV)
C. (1), (1), (1), (IV)
D. (1), (1V), (1), (1)

124. gro7 G3geh ITER 21 &, J1d F & forai-

125.

126.

A. T
B. &4
C. Ty

D. @re
e A 1 4 G -
A. 2123
2123
B. 2122
2122
C. 2123
2124

D. 2132
2132

1 &eg wd1e (died) §-

() WETEHAT STeSThR T

(1) oo (fagen) e

(1) PpH! STLTSTHN F1E

(V) e #ure

ST} 9IS & & Sl A T Tk T -

A. (1), (1), (11, (IV)
B. (), (1), (1), (IV)
C. (1, (1), (), (1V)
D. (1), (1V), (1), (1)
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127.

128.

129.

130.

In Urinary system, aldosterone takes
part in reabsorption of-

A kKt

B. Na+
C. Water
D. BothBand C

Which joints are found in the
appendicular skeleton?

A. Hinge joints

B. Ball and socket joints

C. Gliding joints

D. All ‘A’, ‘B’ and ‘C’ are correct

Cartilage is formed by-
A. Chondrocytes

B. Osteoblasts

C. Osteoclasts

D. Fibroblasts

The part of neuron that receives
signals from other neurons is called-

A. Axon

B. Dendrite

C. Cell Body

D. Myelin Sheath

127.

128.

129.

130.

IeErSHl o H UTS R IH: SR H Wi
QI 8-

A Kt

B. Na'

C. Sl

D. BUS CaMl

i ot Gftrt SuiTir sherter H gAY STt 892

A. FesT Efer

B. ohgoh@{acuohﬁﬁi
C. i €t

D. ‘A’,‘B’Td ‘C’ ofi @&t
JuTfeer s -

A. FFEHEEZE

~ O\

B. JATRZMETsATEH

C. ARy

D. WIEsscieed,

=L ST AT SHT 33 = § Hehdahl T
ST T -

B. g1
C. ISR T
D. AT ud
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131.

132.

133.

Sum of all the genes in a population is
called-

A. Genotype
B. Gene pool
C. Gene factor
D. Genome

Match the following-
List - |

(a) Antigens composed of
Glycolipids and Glycoproteins

(b) Anti-Rh-Antibody

(c) Antibody present in blood
plasma

(d) Both ‘A’ antigen and ‘B’

antigen absent

List - 11

() Agglutinins

(1) Type O-group

(111) Rh (-) blood type

(IV) Agglutinogens

A. A-IV, B-III, C-I, D-II
B. A-lll, B-1V, C-I, D-lI
C. A-ll, B-IlI, C-I, D-IV
D. A-l, B-ll, C-1V, D-11I

Which set is an incorrect
combination?

A. sperm, testis, sperm duct, penis
B. menstruation, egg, oviduct, uterus
C. sperm, oviduct, egg, uterus

D. ovulation, egg, oviduct, uterus

131.

132.

133.

forelt afufy o gwea S =61 a0 Swearar
2-

A. SiHrerRy
B. S Y

C. SO et
D. SaH

foe =t T ifs-
o1

(a) URISH TATEhITgH I
AR Ieh &Il &

(b) Tt Rh-TETSTE

(c) TXh TITEAT | SRk TElaiel

(d) ‘A’ TENH T ‘B’ TS HI
e
el - 11

() Tl

(Il) T O-FE

(1) 3R T (-) T 998

(V) TS

A. A-1V, B-ll11, C-1, D-1I

B. A-Ill, B-1V, C-I, D-ll

C. A-ll, B-lll, C-I, D-IV

D. A-l, B-Il, C-1V, D-llI

I T T HASH Tal Tal 22

A. TSI, YT, YS9 Afctert, e
B. HTEAT, 31U, v, Mt
C. BRIV, USATIET, U, THITR
D. USicH, U, FUSTRAT, THIT

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-UA-JUNGV-ENT-M1

31 Set A




134.

135.

136.

Inheritance of ABO blood grouping is
an example of-

A. Dominance

B. Co-dominance

C. Incomplete dominance

D. Both ‘A’ and ‘B’

In human beings, the correct sequence
of events during reproduction is-

A. Gamete formation, fertilization,
zygote, embryo

B. Embryo, zygote, fertilization,

gamete formation

Fertilization, gamete formation,

embryo, zygote

Gamete formation, fertilization,
embryo, zygote

C.

D.

Assertion — (A) : Mutation can cause a
change in protein structure.

Reason (R) : Gene mutations alter the
DNA sequences of a gene.

A. Both Assertion (A) and Reason
(R) are true, and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true, but Reason (R) is not
the correct explanation of
Assertion (A).

Assertion (A) is true, but Reason
(R) is false.

Both Assertion (A) and Reason
(R) are false.

134.

135.

136.

ABO T Y& il ST RIeRdT 33T 2-
A. goTferaT

B. @E-yTferar

C. 31qUi ywTfear

D. ‘A’Td ‘B’ 3HI

AT H ST o qH ST 1 Ee s
-

o1, T, e, e i

oy femior, foS=m, T, I

o w >

AR (A) : SN T et T=HT H

JiEdT Scq=T o Tohd B

W7 (R) : ST Scqfard St & DNA 5|

o qitafd o 3 &

A. ARHRIT (A) TS HROT (R) ST T 2,
3T R (R), 31T (A) 7 T
TR 2

B. AW (A) T %R0 (R) 3T AT 2,

fee IO (R), SRR (A) T E&T

TSR TET R

HMHAT (A) T 8, fohe] 1T (R)

A 2|

AT (A) Td FHRIT (R) ST STE

2
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137.

138.

139.

140.

Choose the correct sequence of stages
of growth curve for bacteria-

A. Lag, Log, Stationary
B. Log, Lag, Stationary
C. Log, Stationary, Lag
D. Stationary, Log, Lag

The permissible use of amniocentesis
is for-

A. Detecting genetical abnormality in
the foetus

B. Detecting deficiency diseases in
the foetus

C. Detecting gender of the foetus
D. Both ‘A’ and ‘B’
Which of the following pairs contains

an infectious and a non-infectious
disease?

A. Typhoid and AIDS

B. AIDS and Cancer

C. Pneumonia and Malaria
D. Cancer and Malaria

What part of Sperm holds the Haploid
Chromatin?

A. Acrosome
B. Head
C. Talil
D. Neck

137.

138.

139.

140.

STTaToy < gfea 56 o Tl o G 3hH I

-

A, T, AT, TR

B. @, o, TRl

C. o, &y,

D. &R, ST, AT

THTIE e shT Eeftehd SUaiT 3

A. 9T H SRR STRdarst s
Tl AT

B. YT H 3Teqdr T ! A HAT

C. oo o fofwr ot 1t T

D. ‘A’Td ‘B’ aH(

T 5 & I & W Rl SR
A. TEHEE IR U

B. TSH 3R hl

C. =g SR weten

D. et 37 qaifen

STERIV] o forel wTT & STIfima st rar
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141.

142.

143.

Tissue level body organization occurs

A. Protozoa

B. Porifera

C. Coelenterates
D. Helminthes

Choose the correct sequence of
taxonomic categories in Linnean
Hierarchy-

A. Phylum — Class — Family — Tribe
— Order — Genus — Species

B. Division — Class — Order — Family
— Tribe — Genus — Species

C. Order — Class — Tribe — Division —
Family — Genus — Species

D. Phylum — Class — Tribe — Order —
Family — Genus — Species

Cancer is-

A. Air borne

B. Viral disease

C. Environmental disorder
D. Cellular disease

141.

142.

143.

I T =T IR TS ITT STl 2-

A. JIEISIST

B. Wi

C. Hiargar

D. &fcafom

et o wargshn # arfifehl <l farfsr=

STt o WEl hH i <-4

A. EF o1 - e — Zrgel — 0T - S -
wfsfra

B. fedta &t —Tor — et — grger -
e — wfisfia

C. o7 — Z1ee — fealted — et —
e — wfisfig

D. €& — 3 — ZT8el — 707 — A — S —
wfsfre

FET 2-

A. gt

B. dfwmop T

C. ATy R

D. IR T
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144. Which statements from the following

145.

are correct?

() Sericulture is related with silk

production

(1) Apiculture is related with
production of Pearl

(1) Pisciculture is related with
production of fish

(IV) Lac culture is related with
production of Lac

A. (D, (1D, (1) only

B. (), (1), (IV) only

C. (1), (1D, and (IV) only
D. All of the above

Match the column-

Column — |
() Hepatitis
(1 AIDS
(1) Cancer
(IV) Immunity
Column — 11

(a) Multiple mutations in DNA
(b) High risk to Haemophilics
(c) Immunoglobulins

(d) Inflmmation of liver

A. 1-d, ll-c, llI-b, IV-a
B. I-d, lI-b, lll-a, IV-c
C. I-c, Il-a, Ill-d, IV-b
D. I-a, lI-d, Ill-c, IV-b

144, {578 9 19 9 T g8 22

145.

(1) feheet deiferd BT 8 WM
STET |

(1) ftehe=r Esiferd g & Ardt
3T I

(11) Torefiere=r geiferd gt @ gt
3T I

(IV) e shoel Helford BT & o1
SET |

A. Fad (D), (1D, (110
B. @adt (1), (IID), (IV)
C. &ad (1), (II) & (IV)
D. Wik ot

HITHY, ! GHTeTd hifs-
it — 1
() TederEia
(1) AIDS
(Ill)
(V) Tfawer
i — 11
(a) DNA ¥ o8 ScafadH
(b) Temftsfctera =t Stfers Taw
(c) AT
(d) TR Ye"
A. 1-d, Il-c, lll-b, IV-a
B. I-d, ll-b, lll-a, IV-c
C
D

. I-c, ll-a, 11-d, IV-b
. 1-a, 11-d, lll-c, IV-b
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146.

147.

148.

Addiction is-

A. Intake of drugs

B. Intake of tobacco and alcohol

C. Both ‘A’ and ‘B’

D. Physiological and Psychological
dependence

The correct sequence of stages in the

evolution of Modern Man (Homo

Sapiens), is-

A. Homo Erectus, Australopithecus,
Neanderthal Man, Cro-Magnon
Man, Modern Man

B. Australopithecus, Homo Erectus,
Neanderthal Man, Cro-Magnon
Man, Modern Man

C. Neanderthal Man,
Australopithecus, Cro-Magnon

Man, Homo Erectus, Modern Man

D. Australopithecus, Neanderthal

Man, Cro-Magnon, Homo Erectus,

Modern Man

Which of the following are correct?

() Sponges — Cellular level of
organization

(I1) Cnidaria — Tissue level of
organization

(1) Platyhelminthes — Organ level
of organization

(V1) Annelids, Molluscs — Organ
system level of Organization

A. (1) and (Il) only
B. (I1) and (IV) only
C. (I1) and (111) only
D. (1), (1), (111) and (IV)

146. sqg 2-
A. $EH HaT
B. T 9 Ushiged ohl ol
C. ‘A’Td ‘B’ qMl
D. YRR o HAraTeh fefar
147. ek wT=el (41 Wtr4)  forehrer 6l
STTEATHAY T T 570 B-
A. B S, regartuisy, Fristue

B. SATegaAIufeehd, Ml ey, faetaa
HIE, Sl H W1, ST A

C. et ama, sireefufeera, shr

I HIS, BT SUeH, ST Hel

D. SAreeAifuferery, feistae ama, s
T A, BT 3, AT Ta

148. g 4 @ FIT =1 82
() TSt — IR T T ST
(1) FSfET — ST T &1 dired
(111) e fenfrerg — 3T T o1 e
(1V) TfAfeTs, Aiedeh — 30T o TR

CIREUrES]

A. Faa (1) T (1)
B. ahad (1) T (IV)
C. aad (1) T (111)

D. I), (1), (IIT) Ta (IV)
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149.

150.

Lymphokines or interleukins are
secreted by-

A. K. Cells

B. 1gG

C. Helper T Cells
D. I-Cells

Assertion (A) — Malaria is caused by
Protozoan.

Reason (R) — The disease is
transmitted by mosquito.

A. Both Assertion (A) and Reason
(R) are true, and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true, and Reason (R) is not
the correct explanation of
Assertion (A).

Assertion (A) is true, but Reason
(R) is false.

Assertion (A) and Reason (R) both
are false.

149.

150.

ferrpTshTS = AT Sretefohe Tl B &
A. K. "

B. IgG

C. TR T-Ud

D. I-8cd

AR (A) — HARET TS & AT
3cU— BIaT 2

T (R) — U hT E=I0T H=5 3h g el
2l
A.

AR (A) T FRT (R) ST A 2,
TUT FHIOT (R), SR (A) FT T=T
TR 2

B. MY (A) T %R0 (R) 3T AT 2,
TAT T (R), IR (A) 7 T
TSR e R

HMHAT (A) T &, fobe W (R)
TeAd 2

AR (A) TYUT HRT (R) ST TTeAd
2
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IR 3ifoRd T /T HET 3Ee

31| SETA

Srfereraw 3iek : 150

Time for making answers : 3 Hours Maximum Marks : 150
e :
1. 399 Uidaent & fiF arr g |
2. ANTITE I AEE R |
3. ofterfiat s fcr feam sran & fom & s 101 (@1 = (@) ® & haer 3|
oo % ST OMR ¥ite # 2, & 37k ERT AT & q0T Satd
T T o | Ieres T9r 01 3tk T B weft wer erfad |
4. T % IW, 9 TE OMR I (TFEReiie) uX sifera iR |
5. SRUTTcHeR HodTeh Tai (ohaT SITSRTT |
6. ToRE +ft TXE o HeTeheTet a1 AT ¢ U WIATSel Wi T SN afeid ¢ |
7. OMR 3TME (ITTETIET) T TANT hid THT VT i AATITLTHT
w98 e I 91 39 |1ig At faerae anfe ug S R
FHAEIEY 9E T & A |
HUTferg 97T / fawat <t foreqa et |
arr | feraror Tont R OEAT | 3
I | iRl 50 50
I RCIPE] 50 50
| (37) T 50 50
(@) e o=
Note :
1. This question booklet contains three Parts.
2. Part1 & Il are compulsory.
3. Candidates are directed to choose only one subject from
Part 111 (A) or (B) which was chosen at the time of application.
Each question carries 01 mark. All questions are compulsory.
4. Indicate your answers on the OMR Answer-Sheet provided.
5. No negative marking will be done.
6. Use of any type of calculator or log table and mobile phone
is prohibited.
7. While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds and wrinkles.

Details of Parts/Subjects :

Part | Particular No. of Questions | Marks
I Physics 50 50
I Chemistry 50 50
Il (A) Mathematics 50 50

(B) Biology
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